






Όλες οι κυματομρφές είναι για λ=6.

Σήμα x1(n)



Σήμα x2(n)

Σήμα x3(n)



clear all;
close all;
clc;

% Let l (lamda) be equal to 4
l=4;

L=300;
n = 0:1:L-1; % 300 samples

% Discrete Time Signal x1(n)
% --------------------------
x1a = cos(l*pi*n/100);
% Plot x1a
figure()
stem(x1a)
title('x1a=cos(lπn/100)');
xlabel('Time')
ylabel('Amplitude')
grid on

x1b = sin(l*n/100);
% Plot x1b
figure()
stem(x1b)
title('x1b=sin(ln/100)');
xlabel('Time')
ylabel('Amplitude')
grid on

x1 = x1a + x1b;
% Plot x1
figure()
stem(x1)
title('x1=cos(lπn/100)+sin(lπn/100)');
xlabel('Time')
ylabel('Amplitude')
grid on

% Discrete Time Signal x2(n)
% --------------------------
x2 = cos(l*pi*n/100).^2;
% Plot x2
figure()
stem(x2)
title('x2=cos^2(lπn/100)');
xlabel('Time')
ylabel('Amplitude')

% Discrete Time Signal x3(n)
% --------------------------
x3 = cos(l*pi*n/100).*cos(l*pi*n/200);
% Plot x3
figure()
stem(x3)
title('x3=cos(lπn/100)*cos(lπn/200)');
xlabel('Time')
ylabel('Amplitude')

Κώδικας Matlab







Όλες οι κυματομρφές είναι για λ=3

Κώδικας Matlab

l=3; % Let l (lamda) be equal to 3

x  = @(t) cos(2*pi*75*l*t);
x1 = @(t) cos(2*pi*1075*l*t);

L=30;

n = 0:1:L-1; % 30 samples
xn = cos(0.15*pi*n);

subplot(3,1,1); fplot(x,  [0 0.01]); grid on
subplot(3,1,2); fplot(x1, [0 0.01]); grid on
subplot(3,1,3); stem(xn); grid on










